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OSS:

•CCHGO=60.0 DEG F
•COMFT=2 DEG F
•HCHGO=50.0 DEG F
•MXDLY=30 MIN
•MXSTA=240 MIN
•MXSTP=60 MIN
•OCC=12A;6A;6A;6A;6A;6A;6A
;12A
•VAC=12A;6P;10P;6P;6P;6P;6
P;12A

AH1
CENAEMPTY
CENABON

CENFL
CLSTP
CLSTR

COENA
DAENA
FAENA

FOENAOFF
FOVALOFF
FRTABOFF
HENAEMPTY

HENFLHOSCHHOLI:HOLIDAY:DV
HTSTP
HTSTR

OAT[MZ12] ZONE2:MZ12:UIAV3
SPSLECT:OAT.CHG:AV
SPACEHILO:AH1.AVG:AVG STPTM

STRTM
TBTMP
TMSTP
TMSTR

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=3

AH1.AVG
AINP1HILO:AH1ZNTP1:AVG
AINP2HILO:AH1ZNTP2:AVG
AINP3HILO:AH1ZNTP3:AVG

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH1 FILTER IS 
CLOGGED
•PRINT=1
•PRIOR=8

AH1.FLTR
CENABON
DINPZONE2:MZ1:UIDV4
DSABLOFF

DV

NORMOFF

OFFDV
ONDV

STATE

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=3

AH1.LOW
AINP1HILO:AH1ZNTP1:LOVAL
AINP2HILO:AH1ZNTP2:LOVAL
AINP3HILO:AH1ZNTP3:LOVAL

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH1 FREEZESTAT 
IS TRIPPED
•PRINT=1
•PRIOR=8

AH1.LTC
CENABON
DINPZONE2:MZ1:UIDV6
DSABLOFF

DV

NORMOFF

OFFDV
ONDV

STATE

LOGIC:

•ANDOR=OR
•INOUT=NORMAL
•INVT1=NORMAL
•INVT2=NORMAL
•INVT3=NORMAL
•NOFIN=3

AH1.S/S
CENABON
DINP1DELAY:AH1OVRD:PULSE
DINP2[MZ6] ZONE2:MZ6:UIDV4
DINP3OSS:AH1:COENA

DV [A]
OFFDV
ONDV

RESET:

•HICAL=55.0 DEG F
•HIVAL=85.0 DEG F
•IUNIT=DEG F ** .1
•LOCAL=65.0 DEG F
•LOVAL=40.0 DEG F
•OUTMN=55.0 DEG F
•OUTMX=65.0 DEG F

AH1.SAR
AINP[MZ12] ZONE2:MZ12:UIAV3 AV
CENABON

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH1.ZN1
AINP1[V1-1] MNFLO:V1-1:OVTIM
AINP2[V1-2] MNFLO:V1-2:OVTIM
AINP3[V1-3] MNFLO:V1-3:OVTIM
AINP4[V1-4] MNFLO:V1-4:OVTIM
AINP5[V1-5] MNFLO:V1-5:OVTIM
AINP6[V1-6] MNFLO:V1-6:OVTIM
AINP7[V1-7] MNFLO:V1-7:OVTIM
AINP8[V1-8] MNFLO:V1-8:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH1.ZN2
AINP1[V1-9] MNFLO:V1-9:OVTIM
AINP2[V1-10] MNFLO:V1-10:OVTIM
AINP3[V1-11] MNFLO:V1-11:OVTIM
AINP4[V1-12] MNFLO:V1-12:OVTIM
AINP5[V1-13] MNFLO:V1-13:OVTIM
AINP6[V1-14] MNFLO:V1-14:OVTIM
AINP7[V1-15] MNFLO:V1-15:OVTIM
AINP8[V1-16] MNFLO:V1-16:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH1.ZN3
AINP1[V1-17] MNFLO:V1-17:OVTIM
AINP2[V1-18] MNFLO:V1-18:OVTIM
AINP3[V1-19] MNFLO:V1-19:OVTIM
AINP4[V1-20] MNFLO:V1-20:OVTIM
AINP5[V1-21] MNFLO:V1-21:OVTIM
AINP6[V1-22] MNFLO:V1-22:OVTIM
AINP7[V1-22A] MNFLO:V1-22A:OVTIM
AINP8[V1-22B] MNFLO:V1-22B:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=2

AH1.ZN4
AINP1[V1-22C] MNFLO:V1-22C:OVTIM
AINP2[V1-23] MNFLO:V1-23:OVTIM

AVG

CENABON
HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=4

AH1OVRD
AINP1HILO:AH1.ZN1:HIVAL
AINP2HILO:AH1.ZN2:HIVAL
AINP3HILO:AH1.ZN3:HIVAL
AINP4HILO:AH1.ZN4:HIVAL

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

DELAY:

•DELAY=180.0 MIN
•MODE=ON DELAY

AH1OVRD
CENABON
DINPTSTAT:AH1OVRD:DV

DV
PULSE
RMTIM

TSTAT:

•ACT=DIRECT
•ANTIC=ACTION OFF
•INMN=0.0
•INMX=120.0
•MAXSP=90.0
•MINSP=0.0
•MNDIF=0.1
•MODE=ON OFF CONTROL

AH1OVRD
AINPHILO:AH1OVRD:HIVAL
CENABON

DV
HIFLG

INDIF0.1 LOFLG
OFFDV
ONDV

SP1.0

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=8

AH1ZNTP1
AINP1[V1-1] MNFLO:V1-1:ZNTMP
AINP2[V1-2] MNFLO:V1-2:ZNTMP
AINP3[V1-3] MNFLO:V1-3:ZNTMP
AINP4[V1-4] MNFLO:V1-4:ZNTMP
AINP5[V1-5] MNFLO:V1-5:ZNTMP
AINP6[V1-6] MNFLO:V1-6:ZNTMP
AINP7[V1-7] MNFLO:V1-7:ZNTMP
AINP8[V1-8] MNFLO:V1-8:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=8

AH1ZNTP2
AINP1[V1-9] MNFLO:V1-9:ZNTMP
AINP2[V1-10] MNFLO:V1-10:ZNTMP
AINP3[V1-11] MNFLO:V1-11:ZNTMP
AINP4[V1-12] MNFLO:V1-12:ZNTMP
AINP5[V1-13] MNFLO:V1-13:ZNTMP
AINP6[V1-14] MNFLO:V1-14:ZNTMP
AINP7[V1-15] MNFLO:V1-15:ZNTMP
AINP8[V1-16] MNFLO:V1-16:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=7

AH1ZNTP3
AINP1[V1-17] MNFLO:V1-17:ZNTMP
AINP2[V1-18] MNFLO:V1-18:ZNTMP
AINP3[V1-19] MNFLO:V1-19:ZNTMP
AINP4[V1-20] MNFLO:V1-20:ZNTMP
AINP5[V1-21] MNFLO:V1-21:ZNTMP
AINP6[V1-22] MNFLO:V1-22:ZNTMP
AINP7[V1-23] MNFLO:V1-23:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

APT:

•DELAY=0.0 MIN

CFM1.SP
AINP7.7 AV
CENABON
DFTAVEMPTY

LOGIC:

•ANDOR=AND
•INOUT=NORMAL
•INVT1=NORMAL
•INVT2=NORMAL
•NOFIN=2

ECONAHU1
CENABON
DINP1TSTAT:ECONLOCK:DV
DINP2[MZ2] ZONE2:MZ2:UIDV1

DV
OFFDV
ONDVTSTAT:

•ACT=DIRECT
•ANTIC=ACTION OFF
•INMN=-40.0 DEG F
•INMX=120.0 DEG F
•MAXSP=90.0 DEG F
•MINSP=10.0 DEG F
•MNDIF=4.0 DEG F
•MODE=ON OFF CONTROL

ECONLOCK
AINP[MZ12] ZONE2:MZ12:UIAV3
CENABON

DV [B]
HIFLG

INDIF4.0 DEG F LOFLG
OFFDV
ONDV

SP20.0 DEG F

HOLI:

•CHTIM=12:00am
•DUR1=1
•NOFHO=1
•SDA1= 1/01/80

HOLIDAY
DISABOFF DV [C]
NOACTOFF

SLECT:

•DATYP=ANALOG VALUES
•INMN=0.0 %
•INMX=100.0 %

MINCFM1
AINP10.0 %
AINP2APT:CFM1.SP:AV

AV

CENABON
INSELLOGIC:AH1.S/S:DV

ZONE2:

•ADDR=1
•EXENA=0
•NUMAI=8
•NUMAV=4
•NUMDI=4
•NUMDV=4

MZ1
AIN1[MZ12] ZONE2:MZ12:UIAV3
AIN2RESET:AH1.SAR:AV
AIN3EMPTY
AIN4EMPTY
AIN5SLECT:MINCFM1:AV
AIN6EMPTY
AIN7HILO:AH1.LOW:LOVAL
AIN8EMPTY

AO1
AO2
AO3
AO4
AV1
AV2
AV3
AV4

CENABON
DIN1LOGIC:AH1.S/S:DV
DIN2LOGIC:ECONAHU1:DV
DIN3EMPTY
DIN4EMPTY

DO1 [D]
DO2
DO3 [E]
DO4 [F]
DO5
DO6
DO7
DO8
DV1
DV2
DV3
DV4

EMSCOON

UIAV1
UIAV2
UIAV3
UIAV5
UIDV4
UIDV6
UIDV7
UIDV8

TSTAT:

•ACT=DIRECT
•ANTIC=ACTION OFF
•INMN=0.0 DEG F
•INMX=120.0 DEG F
•MAXSP=90.0 DEG F
•MINSP=50.0 DEG F
•MNDIF=2.0 DEG F
•MODE=ON OFF CONTROL

OAT.CHG
AINP[MZ12] ZONE2:MZ12:UIAV3
CENABON

DV
HIFLG

INDIF5.0 DEG F LOFLG
OFFDV
ONDV

SP55.0 DEG F

SLECT:

•DATYP=ANALOG VALUES
•INMN=0.0 DEG F
•INMX=100.0 DEG F

OAT.CHG
AINP170.0 DEG F
AINP276.0 DEG F

AV [G]

CENABON
INSELTSTAT:OAT.CHG:DV

To: LOGIC:AH1.S/S:DV
[V1-1] MNFLO:V1-1:EOCCM
[V1-10] MNFLO:V1-10:EOCCM
[V1-11] MNFLO:V1-11:EOCCM
[V1-12] MNFLO:V1-12:EOCCM
[V1-13] MNFLO:V1-13:EOCCM
[V1-14] MNFLO:V1-14:EOCCM
[V1-15] MNFLO:V1-15:EOCCM
[V1-16] MNFLO:V1-16:EOCCM
[V1-17] MNFLO:V1-17:EOCCM
[V1-18] MNFLO:V1-18:EOCCM
[V1-19] MNFLO:V1-19:EOCCM
[V1-2] MNFLO:V1-2:EOCCM
[V1-20] MNFLO:V1-20:EOCCM
[V1-21] MNFLO:V1-21:EOCCM
[V1-22] MNFLO:V1-22:EOCCM
[V1-22A] MNFLO:V1-22A:EOCCM
[V1-22B] MNFLO:V1-22B:EOCCM
[V1-22C] MNFLO:V1-22C:EOCCM
[V1-23] MNFLO:V1-23:EOCCM
[V1-3] MNFLO:V1-3:EOCCM
[V1-4] MNFLO:V1-4:EOCCM
[V1-5] MNFLO:V1-5:EOCCM
[V1-6] MNFLO:V1-6:EOCCM
[V1-7] MNFLO:V1-7:EOCCM
[V1-8] MNFLO:V1-8:EOCCM
[V1-9] MNFLO:V1-9:EOCCM
[MZ13] LOGIC:OCC:DINP1

A

To: TSTAT:ECONLOCK:DV
[MZ3] LOGIC:ECONAHU2:DINP1
[MZ5] LOGIC:ECONAHU3:DINP1

B

To: HOLI:HOLIDAY:DV
[MZ10] OSS:AH7:HOSCH
[MZ3] OSS:AH2:HOSCH
[MZ5] OSS:AH3:HOSCH
[MZ7] OSS:AH4:HOSCH
[MZ8] OSS:AH5:HOSCH
[MZ9] OSS:AH6:HOSCH

C

To: ZONE2:MZ1:DO1
[MZ2] ZONE2:MZ2:DIN1
[MZ2] COS:AH1.SAF:NORM

D

To: ZONE2:MZ1:DO3
[MZ2] COS:EF13.ALM:NORME

To: ZONE2:MZ1:DO4
[MZ2] COS:EF15.ALM:NORMF

To: SLECT:OAT.CHG:AV
[MZ10] OSS:AH7:SP
[MZ3] OSS:AH2:SP
[MZ5] OSS:AH3:SP
[MZ7] OSS:AH4:SP
[MZ8] OSS:AH5:SP
[MZ9] OSS:AH6:SP

G
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COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH1 DOES NOT 
MATCH IT'S NORMAL 
CONDITION
•PRINT=1
•PRIOR=8

AH1.SAF
CENABON
DINPZONE2:MZ2:UIDV1
DSABLOFF

DV

NORM[MZ1] ZONE2:MZ1:DO1

OFFDV
ONDV

STATE

MATH:

•FUNCT= AINP1 * AINP2
•OUTMN=-1.00
•OUTMX=100.00

AH1RAST
AINP10.0
AINP2ZONE2:MZ2:UIAV7

AV

CENABON

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH2 SUPPLY AIR 
FAN IS IN ALARM
•PRINT=1
•PRIOR=8

AH2.SAF
CENABON
DINPZONE2:MZ2:UIDV1
DSABLOFF

DV

NORM[MZ3] ZONE2:MZ3:DO1

OFFDV
ONDV

STATE

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=1.0 MIN
•ENDLY=0.0 MIN
•MESSG=EF13 IS IN ALARM
•PRINT=1
•PRIOR=8

EF13.ALM
CENABON
DINPZONE2:MZ2:UIDV2
DSABLOFF

DV

NORM[MZ1] ZONE2:MZ1:DO3

OFFDV
ONDV

STATE

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=1.0 MIN
•ENDLY=0.0 MIN
•MESSG=EF15 IS IN ALARM
•PRINT=1
•PRIOR=8

EF15.ALM
CENABON
DINPZONE2:MZ2:UIDV3
DSABLOFF

DV

NORM[MZ1] ZONE2:MZ1:DO4

OFFDV
ONDV

STATE

ZONE2:

•ADDR=2
•EXENA=0
•NUMAI=8
•NUMAV=4
•NUMDI=4
•NUMDV=4

MZ2
AIN1EMPTY
AIN2EMPTY
AIN3APT:SA.SP1:AV
AIN4EMPTY
AIN5EMPTY
AIN6EMPTY
AIN7EMPTY
AIN8MATH:RA.SP1:AV

AO1
AO2
AO3
AO4
AV1
AV2
AV3
AV4

CENABON
DIN1[MZ1] ZONE2:MZ1:DO1
DIN2EMPTY
DIN3EMPTY
DIN4EMPTY

DO1
DO2
DO3
DO4
DO5
DO6
DO7
DO8
DV1
DV2
DV3
DV4

EMSCOON

UIAV4 [A]
UIAV7
UIAV8
UIDV1 [B]
UIDV2
UIDV3
UIDV5
UIDV6

MATH:

•FUNCT= AINP1 * AINP2
•OUTMN=-1.0
•OUTMX=100.0

RA.SP1
AINP1APT:RA.SP1:AV
AINP2100.0

AV

CENABON

APT:

•DELAY=0.0 MIN

RA.SP1
AINP0.05 IN WC AV
CENABON
DFTAVEMPTY

APT:

•DELAY=0.0 MIN

SA.SP1
AINP1.20 IN WC AV
CENABON
DFTAVEMPTY

To: ZONE2:MZ2:UIAV4
[MZ13] ZONE2:MZ13:AIN2A

To: ZONE2:MZ2:UIDV1
[MZ1] LOGIC:ECONAHU1:DINP2B
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OSS:

•CCHGO=60.0 DEG F
•COMFT=2 DEG F
•HCHGO=50.0 DEG F
•MXDLY=30 MIN
•MXSTA=90 MIN
•MXSTP=60 MIN
•OCC=12A;5A;5A;5A;5A;5A;6A
;12A
•VAC=12A;9P;10P;9P;9P;9P;6
P;12A

AH2
CENAEMPTY
CENABON

CENFL
CLSTP
CLSTR

COENA
DAENA
FAENA

FOENAOFF
FOVALOFF
FRTABOFF
HENAEMPTY

HENFLHOSCH[MZ1] HOLI:HOLIDAY:DV
HTSTP
HTSTR

OAT[MZ12] ZONE2:MZ12:UIAV3
SP[MZ1] SLECT:OAT.CHG:AV
SPACEHILO:AH2.AVG:AVG STPTM

STRTM
TBTMP
TMSTP
TMSTR

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=3

AH2.AVG
AINP1HILO:AH2ZNTP1:AVG
AINP2HILO:AH2ZNTP2:AVG
AINP3HILO:AH2ZNTP3:AVG

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH2 FILTER IS 
CLOGGED
•PRINT=1
•PRIOR=8

AH2.FLTR
CENABON
DINPZONE2:MZ3:UIDV4
DSABLOFF

DV

NORMOFF

OFFDV
ONDV

STATE

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=3

AH2.LOW
AINP1HILO:AH2ZNTP1:LOVAL
AINP2HILO:AH2ZNTP2:LOVAL
AINP3HILO:AH2ZNTP3:LOVAL

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=0.5 MIN
•ENDLY=0.0 MIN
•MESSG=AH2 HAS TRIPPED 
ON FREEZE PROTECTION
•PRINT=1
•PRIOR=8

AH2.LTC
CENABON
DINPZONE2:MZ3:UIDV6
DSABLOFF

DV

NORMOFF

OFFDV
ONDV

STATE

LOGIC:

•ANDOR=OR
•INOUT=NORMAL
•INVT1=NORMAL
•INVT2=NORMAL
•INVT3=NORMAL
•NOFIN=3

AH2.S/S
CENABON
DINP1DELAY:AH2OVRD:PULSE
DINP2[MZ6] ZONE2:MZ6:UIDV4
DINP3OSS:AH2:COENA

DV [A]
OFFDV
ONDV

RESET:

•HICAL=55.0 DEG F
•HIVAL=85.0 DEG F
•IUNIT=DEG F ** .1
•LOCAL=65.0 DEG F
•LOVAL=40.0 DEG F
•OUTMN=55.0 DEG F
•OUTMX=65.0 DEG F

AH2.SAR
AINP[MZ12] ZONE2:MZ12:UIAV3 AV
CENABON

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH2.ZN1
AINP1[V2-1] MNFLO:V2-1:OVTIM
AINP2[V2-2] MNFLO:V2-2:OVTIM
AINP3[V2-3] MNFLO:V2-3:OVTIM
AINP4[V2-4] MNFLO:V2-4:OVTIM
AINP5[V2-5] MNFLO:V2-5:OVTIM
AINP6[V2-6] MNFLO:V2-6:OVTIM
AINP7[V2-7] MNFLO:V2-7:OVTIM
AINP8[V2-8] MNFLO:V2-8:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH2.ZN2
AINP1[V2-9] MNFLO:V2-9:OVTIM
AINP2[V2-10] MNFLO:V2-10:OVTIM
AINP3[V2-11] MNFLO:V2-11:OVTIM
AINP4[V2-12] MNFLO:V2-12:OVTIM
AINP5[V2-13] MNFLO:V2-13:OVTIM
AINP6[V2-14] MNFLO:V2-14:OVTIM
AINP7[V2-15] MNFLO:V2-15:OVTIM
AINP8[V2-16] MNFLO:V2-16:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0
•INMX=120.0
•NOFIN=8

AH2.ZN3
AINP1[V2-17] MNFLO:V2-17:OVTIM
AINP2[V2-18] MNFLO:V2-18:OVTIM
AINP3[V2-19] MNFLO:V2-19:OVTIM
AINP4[V2-20] MNFLO:V2-20:OVTIM
AINP5[V2-21] MNFLO:V2-21:OVTIM
AINP6[V2-22] MNFLO:V2-22:OVTIM
AINP7[V2-23] MNFLO:V2-23:OVTIM
AINP8[V2-24] MNFLO:V2-24:OVTIM

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=3

AH2OVRD
AINP1HILO:AH2.ZN1:HIVAL
AINP2HILO:AH2.ZN2:HIVAL
AINP3HILO:AH2.ZN3:HIVAL

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

TSTAT:

•ACT=DIRECT
•ANTIC=ACTION OFF
•INMN=0.0
•INMX=120.0
•MAXSP=90.0
•MINSP=0.0
•MNDIF=0.1
•MODE=ON OFF CONTROL

AH2OVRD
AINPHILO:AH2OVRD:HIVAL
CENABON

DV
HIFLG

INDIF0.1 LOFLG
OFFDV
ONDV

SP1.0

DELAY:

•DELAY=180.0 MIN
•MODE=ON DELAY

AH2OVRD
CENABON
DINPTSTAT:AH2OVRD:DV

DV
PULSE
RMTIM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=8

AH2ZNTP1
AINP1[V2-1] MNFLO:V2-1:ZNTMP
AINP2[V2-2] MNFLO:V2-2:ZNTMP
AINP3[V2-3] MNFLO:V2-3:ZNTMP
AINP4[V2-4] MNFLO:V2-4:ZNTMP
AINP5[V2-5] MNFLO:V2-5:ZNTMP
AINP6[V2-6] MNFLO:V2-6:ZNTMP
AINP7[V2-7] MNFLO:V2-7:ZNTMP
AINP8[V2-8] MNFLO:V2-8:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=8

AH2ZNTP2
AINP1[V2-9] MNFLO:V2-9:ZNTMP
AINP2[V2-10] MNFLO:V2-10:ZNTMP
AINP3[V2-11] MNFLO:V2-11:ZNTMP
AINP4[V2-12] MNFLO:V2-12:ZNTMP
AINP5[V2-13] MNFLO:V2-13:ZNTMP
AINP6[V2-14] MNFLO:V2-14:ZNTMP
AINP7[V2-15] MNFLO:V2-15:ZNTMP
AINP8[V2-16] MNFLO:V2-16:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

HILO:

•INMN=0.0 DEG F
•INMX=120.0 DEG F
•NOFIN=8

AH2ZNTP3
AINP1[V2-17] MNFLO:V2-17:ZNTMP
AINP2[V2-18] MNFLO:V2-18:ZNTMP
AINP3[V2-19] MNFLO:V2-19:ZNTMP
AINP4[V2-20] MNFLO:V2-20:ZNTMP
AINP5[V2-21] MNFLO:V2-21:ZNTMP
AINP6[V2-22] MNFLO:V2-22:ZNTMP
AINP7[V2-23] MNFLO:V2-23:ZNTMP
AINP8[V2-24] MNFLO:V2-24:ZNTMP

AVG

CENABON

HICAU
HIVAL

LOCAU
LOVAL

SUM

APT:

•DELAY=0.0 MIN

CFM2.SP
AINP7.5 AV
CENABON
DFTAVEMPTY

LOGIC:

•ANDOR=AND
•INOUT=NORMAL
•INVT1=NORMAL
•INVT2=NORMAL
•NOFIN=2

ECONAHU2
CENABON
DINP1[MZ1] TSTAT:ECONLOCK:DV
DINP2[MZ4] ZONE2:MZ4:UIDV1

DV
OFFDV
ONDV

SLECT:

•DATYP=ANALOG VALUES
•INMN=0.0 %
•INMX=100.0 %

MINCFM2
AINP10.0 %
AINP2APT:CFM2.SP:AV

AV

CENABON
INSELLOGIC:AH2.S/S:DV

ZONE2:

•ADDR=3
•EXENA=0
•NUMAI=8
•NUMAV=4
•NUMDI=4
•NUMDV=4

MZ3
AIN1[MZ12] ZONE2:MZ12:UIAV3
AIN2RESET:AH2.SAR:AV
AIN3EMPTY
AIN4EMPTY
AIN5SLECT:MINCFM2:AV
AIN6EMPTY
AIN7HILO:AH2.LOW:LOVAL
AIN8EMPTY

AO1
AO2
AO3
AO4
AV1
AV2
AV3
AV4

CENABON
DIN1LOGIC:AH2.S/S:DV
DIN2LOGIC:ECONAHU2:DV
DIN3EMPTY
DIN4EMPTY

DO1 [B]
DO2
DO3
DO4 [C]
DO5
DO6
DO7
DO8
DV1
DV2
DV3
DV4

EMSCOON

UIAV1
UIAV2
UIAV3
UIAV5
UIDV4
UIDV6
UIDV7
UIDV8

To: LOGIC:AH2.S/S:DV
[V2-1] MNFLO:V2-1:EOCCM
[V2-10] MNFLO:V2-10:EOCCM
[V2-11] MNFLO:V2-11:EOCCM
[V2-12] MNFLO:V2-12:EOCCM
[V2-13] MNFLO:V2-13:EOCCM
[V2-14] MNFLO:V2-14:EOCCM
[V2-15] MNFLO:V2-15:EOCCM
[V2-16] MNFLO:V2-16:EOCCM
[V2-17] MNFLO:V2-17:EOCCM
[V2-18] MNFLO:V2-18:EOCCM
[V2-19] MNFLO:V2-19:EOCCM
[V2-2] MNFLO:V2-2:EOCCM
[V2-20] MNFLO:V2-20:EOCCM
[V2-21] MNFLO:V2-21:EOCCM
[V2-22] MNFLO:V2-22:EOCCM
[V2-23] MNFLO:V2-23:EOCCM
[V2-24] MNFLO:V2-24:EOCCM
[V2-3] MNFLO:V2-3:EOCCM
[V2-4] MNFLO:V2-4:EOCCM
[V2-5] MNFLO:V2-5:EOCCM
[V2-6] MNFLO:V2-6:EOCCM
[V2-7] MNFLO:V2-7:EOCCM
[V2-8] MNFLO:V2-8:EOCCM
[V2-9] MNFLO:V2-9:EOCCM
[MZ13] LOGIC:OCC:DINP2

A

To: ZONE2:MZ3:DO1
[MZ4] ZONE2:MZ4:DIN1
[MZ2] COS:AH2.SAF:NORM

B

To: ZONE2:MZ3:DO4
[MZ4] COS:EF14.ALM:NORMC
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MATH:

•FUNCT= AINP1 * AINP2
•OUTMN=-1.00
•OUTMX=100.00

AH2RAST
AINP10.0
AINP2ZONE2:MZ4:UIAV7

AV

CENABON

COS:

•ACT=ON FOR ALARM 
STATE
•ALDLY=1.0 MIN
•ENDLY=0.0 MIN
•MESSG=EF14 IS IN ALARM
•PRINT=1
•PRIOR=8

EF14.ALM
CENABON
DINPZONE2:MZ4:UIDV3
DSABLOFF

DV

NORM[MZ3] ZONE2:MZ3:DO4

OFFDV
ONDV

STATE

ZONE2:

•ADDR=4
•EXENA=0
•NUMAI=8
•NUMAV=4
•NUMDI=4
•NUMDV=4

MZ4
AIN1EMPTY
AIN2EMPTY
AIN3APT:SA.SP2:AV
AIN4EMPTY
AIN5EMPTY
AIN6EMPTY
AIN7EMPTY
AIN8MATH:RA.SP2:AV

AO1
AO2
AO3
AO4
AV1
AV2
AV3
AV4

CENABON
DIN1[MZ3] ZONE2:MZ3:DO1
DIN2EMPTY
DIN3EMPTY
DIN4EMPTY

DO1
DO2
DO3
DO4
DO5
DO6
DO7
DO8
DV1
DV2
DV3
DV4

EMSCOON

UIAV4
UIAV7
UIAV8
UIDV1 [A]
UIDV2
UIDV3
UIDV5
UIDV6

To: ZONE2:MZ4:UIDV1
[MZ3] LOGIC:ECONAHU2:DINP2A

MATH:

•FUNCT= AINP1 * AINP2
•OUTMN=-1.0
•OUTMX=100.0

RA.SP2
AINP1APT:RA.SP2:AV
AINP2100.0

AV

CENABON

APT:

•DELAY=0.0 MIN

RA.SP2
AINP0.06 IN WC AV
CENABON
DFTAVEMPTY

APT:

•DELAY=0.0 MIN

SA.SP2
AINP1.20 IN WC AV
CENABON
DFTAVEMPTY


